Monday 10/21 - 1
Monday, 10/21 - 1 The Principle of Mathematical Induction.
(A proof template for statements of the
Yne/N: A(n).)
Idea: let A(n) be a statement about
a natural number no. Example:
Example: $1+2+3++n=\frac{h(n+1)}{2}$
Suppose we can show that:
(1) A(1) is true, and
(2) Whenever A(k) is true for kE/N,
A(k+1) follows. In other words,
$\forall k \in IN$, $A(k) => A(k+1)$.
Then by (1), A(1) holds, so by (d), A(2) holds,
so by (a), A(3) holds, so by (d), A(4) holds
Then by (1), A(1) holds, so by (2), A(2) holds, so by (2), A(4) holds so "ultimately," A(n) holds for any nEN.
So we have a mathematical incluction" proof template:
Theorem. Ynell, Aln).

Theorem. YneW, Al Step 1: Is A(1) true? [Prove A(11.]

Step 2: Assume A(k). [Now do what's

```
necesary to conclude: ] So A(k+1) follows.
  So by the principle of mathematical induction, A(n) is tree Yn E/No
    Step 1 is the "base step."

Assuming A(k) is the "induction hypothesis."

Deducing A(k+1) is the "inductive step."
Prove that, \forall n \in \mathbb{N}, 1+2+3+...+n = \frac{n(n+1)}{2}
           A(n) be the statement
 Step 1: 15 A(1) true?
    So A(1) is true.
Step 2: Assume
               A(k): 1+2+3+...+ k= k(k+1).
   To deduce A(k+1), we note that
1+2+3+... + k+1 = (1+2+3+...+ k)+ k+1
```

Invoke (use) the induction hypothesis $= \frac{k(k+1)}{2} + k+1$ and a duff to the - do stuff to get to the right side of A(k+1). $= \frac{k(k+1)}{2} + \frac{\lambda(k+1)}{2} = \frac{k(k+1)+\lambda(k+1)}{2} = \frac{(k+1)(k+2)}{2}.$ 50 A(k+1) follows. So by induction, $|+2+3+...+n=\frac{n(n+1)}{2} \forall n \in \mathbb{N}.$ Tips for the inductive step (in many cases):

- write out the left side of A(k+1)* - Express this in terms of the left side of · Invoke the induction hypothesis.
· Turn the result into the right side of in scratch somewhere, maybe write out the right side as well, so you know what to own for Example 2. Prove that, Vne M, $\sum_{i=1}^{n} (2i-1) = n^2$ the sum of the first nodal natural numbers Proof.

Let A(n) be the statement

$$\sum_{i=1}^{n} (2i-1) = n^{2}.$$

Step 1: is A(1) true?

$$\sum_{i=1}^{1} (2i-1) = 2 \cdot 1 - 1 = 1 = 1^{2}$$

so A(1) is true.

Step 2: Assume
$$k$$

$$A(k): \sum_{i=1}^{k} (2i-1) = k.$$

Then k+1 $\sum_{i=1}^{k} (2i-1) = \sum_{i=1}^{k} (2i-1) + 2(k+1) - 1$

by
$$= k^2 + 2(k+1) - 1 = k^2 + 2k+1$$

nduction $= (k+1)^2$,

hypothesis

so A(k+1) follows.

So by induction, A(n) is true the M. ATWMR